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�1,8�"8�ก
��<ก-
.��=��1=  .2�  &�2,��/
$*(#ก�"��  B<,��'�
#�ก+���	ก�ก#
�ก
��<ก-
4�=��2=��
� 
������ก�
� 2551  +
�*ก
�&�1����"$'��
�
+��7  +
�*ก
�&�1����"�1,   2  �1$'�	#*+',�	$!#"��  
+%

��)��ก&�1����=�5�*6��<ก-
5M�1, 6   (!�	)��&�2=�

�%
�$�  6  	3� !���1= 
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1. &��1��.$
���"��    �%
�$�  1 ��,$(�� 
2. ��"��ก/
$*(#ก�"��    �%
�$�  2 ��,$(�� 
3. ��"��ก/
$*&�2��ก�*�ก    �%
�$�  2 ��,$(�� 
4. 3#ก�*�)�
ก/
$*(#ก�"�����+',�	$!#"�� �%
�$�  2 ��,$(�� 
5. 3#ก�*�)�
ก/
$*(#ก�"�����+',��1�1$'� �%
�$�  2 ��,$(�� 
6. 
��!(#ก�"��     �%
�$�  3 ��,$(�� 

     

���
�"�#	�"����  
 ��$	5��1,�<ก-
  �!"	ก�    .$
�.'!&
D�4��3�"&�1,�$�
�&ก1,�$ก�).��/
�4����.75�*ก�)
4��
��$�ก
���!ก
�&�1����"(!�8�"5C�

&5?��
�(PBL)  &�2,��/
$*(#ก�"��8�!"
���
� 9 
 

 "����� 2   ก	 �����)*#�����ก	 
 ��� '#(��)*#�+��	
���,	�(PBL)  
 /���  %	��
(�ก #�� �	 �ก	 
 ��� '#�!��	0	�" 1 ��	� ����ก
 ���*�2�� �3�04ก5	�6���  6   

 

���
�"�#	�������#��'� 
          ก#�����$���
�   �!"	ก�   ��ก&�1����=�5�*6��<ก-
5M�1,  6   /
.&�1���1, 2 5Mก
��<ก-
 2552 
(��&�1��&��)
#	5>������7ก�*��
�  �%
�$� 20 .�  (!�ก
�&#2�ก	))&�
*��    B<,��1&ก�O78� 
ก
�&#2�ก .2�  &5?���ก&�1���1,ก%
#��&�1������8��*!�)��=�5�*6��<ก-
5M�1, 6 /
.&�1���1, 2 5Mก
��<ก-
  
2552  4��(��&�1��&��)
#	5>������7ก�*��
� 

 
���
�"�#	�
�/2��	 

          �<ก-
3#+��F��'H�
�ก
�&�1��  
#��ก
�&�1��!"$�
��$�ก
���!ก
�&�1����"(!�8�"5C�

&5?�
�
�(PBL)  &�2,��/
$*(#ก�"�� ก�)&ก�O7 (!�&�2=�

+
�*�1,8�"8�ก
��<ก-
.��=��1=  .2�  &�2,��  /
$*
(#ก�"��  B<,��'�
#�ก+���	ก�ก#
�ก
��<ก-
4�=��2=��
� ������ก�
� 2551 +
�*ก
�&�1����"
$'��
�
+��7  +
�*ก
�&�1����"�1, 2  �1$'�	#*+',�	$!#"�� +%

��)��ก&�1����=�5�*6��<ก-
5M�1,  6  
(!�	)��&�2=�

�%
�$�  6  	3� !���1= 

1. &��1��.$
���"��    �%
�$�  1 ��,$(�� 
2. ��"��ก/
$*(#ก�"��    �%
�$�  2 ��,$(�� 
3. ��"��ก/
$*&�2��ก�*�ก   �%
�$�  2 ��,$(�� 
4. 3#ก�*�)�
ก/
$*(#ก�"�����+',�	$!#"�� �%
�$�  2 ��,$(�� 
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5. 3#ก�*�)�
ก/
$*(#ก�"�����+',��1�1$'� �%
�$�  2 ��,$(� 
6. 
��!(#ก�"��    �%
�$�  3 ��,$(��          

   

���
�"�#	�"����  
          ��$	5��"�      �!"	ก�   ก
�&�1��!"$�
��$�ก
�&�1����"(!�8�"5C�

&5?��
� (PBL)  &�2,�� 

/
$*(#ก�"�� +
�*ก
�&�1����"$'��
�
+��7 +%

��)��ก&�1��       
��=�5�*6��<ก-
5M�1, 6   

           ��$	5��
�      �!"	ก�    3#+��F��'H�
�ก
�&�1��   &�2,��  /
$*(#ก�"�� 
 

 "����� 3   ก	 � �
�!�
�	�
!�
�:������ก
 ��������"�������ก	 ���ก	 
 ��� '#
(��)*#�+��	
���,	�(PBL)  
 /���%	��(�ก #�� �	 �ก	 
 ��� '#�!��	0	�" 1 ��	� ��
��ก
 ���*�2�� �3�04ก5	�6��� 6   

 

���
�"�#	�������#��'� 
ก#�����$���
�   �!"	ก�   ��ก&�1����=�5�*6��<ก-
5M�1,  6   /
.&�1���1, 2 5Mก
��<ก-
 2552 

(��&�1��&��)
#	5>������7ก�*��
�  �%
�$� 20 .�  �1,&�1��
��$�ก
���!ก
�&�1����"(!�8�"5C�


&5?��
� (PBL)  &�2,��/
$*(#ก�"��  

 

���
�"�#	�
�/2��	 
5�*&�'�.$
�.'!&
D�4����ก&�1���1,&�1��
��$�ก
���!ก
�&�1����"(!�8�"5C�

&5?��
� 

(PBL)  &�2,��  /
$*(#ก�"��  (!�	)����ก&5?� 3  !"
�  .2�  !"
�5C�����%
&4"
   (Input  Evaluation)  
�!"	ก�   ก
�5�*&�'�!"
�&�2=�

   /
-
   )�.$
�   8).$
���"   8)�
�   +2,�  	#*	
#��&�1����" 
!"
�ก�*)$�ก
� (Process Evaluation) �!"	ก� ก
�5�*&�'�&ก1,�$ก�)ก'�ก���ก�*)$�ก
�&�1��  
ก
�+�� ก
��1+�$���$�8�ก
�&�1��4����ก&�1�� ก
�&�1����"!"$���&��4����ก&�1��ก�*)$�ก
�ก#���  
4�=����ก
�&�1����"(!�8�"5C�

&5?��
� (PBL)  !"
�3#3#'�   (Product  Evaluation)  �!"	ก�    
ก
�5�*&�'�&ก1,�$ก�).$
���"�1,�!"��)�
ก
��$�ก
���!ก
�&�1����"(!�8�"5C�

&5?��
� (PBL) &�2,�� 
/
$*(#ก�"��  3#+��F��'H�
�ก
�&�1��  	#*ก
��%
�58�"5�*(���7   
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   ���
�"�#	�"����  
          ��$	5��1,�<ก-
  �!"	ก�  .$
�.'!&
D�4����ก&�1�����ก
�&�1��!"$�
��$�ก
�&�1����"  

�1,8�"5C�

&5?��
� (PBL)  &�2,��  /
$*(#ก�"��  .2� !"
�5C�����%
&4"
 (Input Evaluation)       
!"
�ก�*)$�ก
�   (Process Evaluation)  !"
�3#3#'�   (Product Evaluation) 

 
�!�	�0�&�1
;&	� 
 &�2,�8
"&ก'!.$
�&4"
8��1,���ก��  3�"�<ก-
."�.$"
�!"ก%

�!.$
�
�
�4��.%
����7&;�
*
)
�.%
  &�2,�8�"8�ก
�$'���.��=��1=  !���1= 

  1.   ก
�&�1����"(!�8�"5C�

&5?��
�  (PBL)  
�
�6<�  $'�1ก
���!ก'�ก���ก
�&�1����"      
�1,&�',��"�!"$�ก
�&+��+6
�ก
��75C�

   &�2,�ก�*��"�8
"3�"&�1��.'!$
�	3�."�.$"
  	+$�


.$
���"!"$�$'�1ก
���
�9�
ก	
#��&�1����"   &�2,��%
�
8�"5�*ก�)ก
�	ก"5C�

  +��5.%
��) 
�2�
��.7.$
���"  	#*�%
&+��3#  /
�8�"ก
�8
".%
	�*�%
4��.��3�"+�� 5�*ก�)!"$�   	3�ก
���!ก
�
&�1����"  &�2,��  /
$*(#ก�"�� �%
�$�  6  	3�  B<,��1ก�*)$�ก
�&�1����" 5  4�=���� .2� 

4�=��1,  1   &+��+6
�ก
��75C�

 
4�=��1,  2  $'&.�
*
75C�

  	#*��=�+���'�
� 
4�=��1,  3   ก%

�!$'�1ก
�&�1����"  	#*�$)�$�4"���# 
4�=��1,  4  �/'5�
�  	#*+��5.$
���"8
�� 
4�=��1,  5  �%
&+��3#�
�	#*5�*&�'�3#�
� 

2.   .��/
�4��
��$�ก
���!ก
�&�1����" 
�
�6<�  .$
�.'!&
D�4��3�"&�1,�$�
�&ก1,�$ก�)
.��/
�4����.75�*ก�)!"
���
� 9 4��
��$�ก
���!ก
�&�1����"(!�8�"5C�

&5?��
� (PBL)  
&�2,�� /
$*(#ก�"��  (!�8�"	))+�)6
�.$
�.'!&
D���'!�
��
+�$�5�*�
�.�
 (Rating  
Scale) 5 �*!�)  	#"$�%
�


.�
&;#1,� (Mean)  	#*.�
&)1,��&)��
���
�  (Standard  
Deviation)  (!�&ก�O74�=��,%
8�ก
��'�
��
.2� �1.�
&;#1,���=�	�� 3.504<=��5  	#*�1.�
&)1,��&)�
�
���
����&ก'� 1.00                              
 3.   &ก�O7  
�
�6<�  .*	��&;#1,�4��3#+��F��'H�
�ก
�&�1���1,ก%

�!�$"  B<,�8��1,�1=
ก%

�!�"��#*  75  4��.*	��!')  �1.�
&��
ก�)  18.75  .*	��  �
ก.*	��&�D�  25  .*	��  
	#*ก
�5�*&�'��F�'ก���ก
�&�1����"4����ก&�1���1,&�1��!"$�
��$�ก
���!ก
�&�1����"(!�8�"5C�


&5?��
�  (PBL)  &�2,�� /
$*(#ก�"�� +
�*ก
�&�1����"$'��
�
+��7 +%

��)��ก&�1����=�5�*6��<ก-
 
5M�1, 6  �1,ก%

�!&ก�O7�$"�"��#* 75 
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4.   3#+��F��'H�
�ก
�&�1��  
�
�6<�  .*	��4����ก&�1��
#���
ก&�1��
��$�ก
���! 
ก
�&�1����"(!�8�"5C�

&5?��
� &�2,��   /
$*(#ก�"��   B<,��!"�
ก	))�!+�)$�!3#+��F��'H
�
�ก
�&�1��  &�2,��  /
$*(#ก�"��  ก
�5�*&�'�ก
��%
�
�   ก
��%
&+��3#�
�  ��ก-*          
ก
��!#��  ก
���$��/'5�
�  3#�
�/�'=��
�   

5.   .$
�.'!&
D�4����ก&�1���1,�1���
��$�ก
���!ก
�&�1����"(!�8�"5C�

&5?��
� (PBL)   
&�2,��  /
$*(#ก�"�� 
�
�6<�  .$
�.'!&
D�4����ก&�1���1,�1���
��$�ก
���!ก
�&�1����"(!�8�"
5C�

&5?��
� (PBL)  &�2,��/
$*(#ก�"�� ��=� 3  !"
�  �!"	ก�!"
�5C�����%
&4"
 (Input  Evaluation)  
�!"	ก�  ก
�5�*&�'�!"
�&�2=�

  /
-
  )�.$
�  8).$
���"  8)�
�  +2,�	#*	
#��&�1����"          
!"
�ก�*)$�ก
� (Process  Evaluation)  �!"	ก� ก
�5�*&�'�&ก1,�$ก�)�ก�*)$�ก
�&�1��ก
�+��  
ก
��1+�$���$�8�ก
�&�1��4����ก&�1��  ก
�&�1����"!"$���&��4����ก&�1��  ก�*)$�ก
�ก#���  
4�=����ก
�&�1����"(!�8�"5C�

&5?��
� (PBL)  !"
�3#3#'� (Product  Evaluation)  �!"	ก�   
ก
�5�*&�'�&ก1,�$ก�).$
���"�1,�!"��)�
ก
��$�ก
���!ก
�&�1����"(!�8�"5C�

&5?��
� (PBL)  &�2,�� 
/
$*(#ก�"��  3#+��F��'H�
�ก
�&�1�� ก
��%
�58�"5�*(���7  �1,+
�
�6$�!�!"!"$�	))+�)6
�
.$
�.'!&
D� 
 

���"!,	�)�ก	 �!��� 
3#+��F��'H�
�ก
�&�1��4����ก&�1����=�5�*6��<ก-
5M�1,  6  �1,&�1��!"$�
��$�ก
���! 

ก
�&�1����"(!�8�"5C�

&5?��
� (PBL) &�2,�� /
$*(#ก�"�� 
#��&�1��+��ก$�
&ก�O7�1,ก%

�!  
 

 

 

 

 


